
  

Schéma	
  de	
  synthèse	
  

Le	
  travail	
  est-­‐il	
  une	
  marchandise	
  comme	
  les	
  autres	
  ?	
  

Oui	
   Non	
  

Modèle	
  NC	
  du	
  marché	
  stylisé	
  du	
  travail	
  	
  
+	
  

Raffinements	
  ultérieurs	
  

D’où	
  vient	
  le	
  chômage	
  et	
  comment	
  (peut-­‐on)	
  le	
  réduire	
  ?	
  

Salaire	
  pas	
  
seulement	
  un	
  
coût,	
  aussi	
  un	
  

revenu	
  

Salaire	
  =	
  accès	
  
à	
  la	
  norme	
  de	
  
consommation	
  

Travail	
  =	
  
estime	
  de	
  soi,	
  
identité	
  
sociale	
  

C’est	
  pourquoi	
  on	
  observe	
  une	
  institutionnalisation	
  
du	
  travail	
  (droit	
  du	
  travail,	
  contrat	
  de	
  travail,	
  

conventions	
  collectives,	
  salaire	
  minimum,	
  partenaires	
  
sociaux…)	
  

Pr
éf
ér
en
ce
	
  p
ou
r	
  l
e	
  

lo
is
ir
	
  (a
llo
ca
tio
ns
)	
  

Co
ût
	
  d
u	
  
tr
av
ai
l	
  	
  

>	
  
pr
od
uc
tiv
ité
	
  

In
ad
éq
ua
tio
n	
  
em

pl
oi
s	
  

/	
  
qu
al
ifi
ca
tio
ns
	
  

m
ai
n-­‐
d’
œ
uv
re
	
  

Insuffisance	
  des	
  salaires	
  réels	
  et	
  donc	
  de	
  la	
  
consommation	
  (anticipée)	
  

Salariat	
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Chômage	
  de	
  
masse	
  

Politiques	
  de	
  l’offre	
  

Politiques	
  (de	
  relance)	
  de	
  la	
  demande	
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Réduire	
  le	
  
coût	
  du	
  
travail	
  

Flexibiliser	
  le	
  marché	
  
du	
  travail	
  (assouplir	
  ou	
  

supprimer	
  les	
  
«	
  rigidités	
  »)	
  

Précarité	
  &	
  
pauvreté	
  
laborieuse	
  

Flexisécurité	
  ?	
  

Contraintes	
  
extérieures	
  

Quel	
  niveau	
  
d’inégalités	
  ?	
  
Quelle	
  cohésion	
  

sociale	
  ?	
  

Chômage	
  
volontaire	
  ou	
  
frictionnel	
  

Facteur	
  travail	
  


